EARAROBEEIERT — 2 N— IBISH —F

20195 1H6H (B) 13EEH2H

mﬁﬁ%ﬁﬁﬂﬁﬁﬁﬂﬁﬂ C2 ¥7%—##% ‘ (X4l W ‘ (il — | 4 (£) 13000 &
[A&4£] 1 7 :400,000  ~ 2 3#&:140,000 @ ~ 3 3#%:80,000  ~ 43#&:60,000” . 5 3&:40,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . . 3, A= ;En . o _ B0 Al E
R AARTIAVE 34 # o8 | KBK 1.(2_4).2 8-8-5-1 | 39.1 1| 52 ﬁ%ﬁ; (&)
AN vy =7 BANZRT—h (-4) ks
AR R RAYZAYIZA P2 i 6 E{gﬁm 1;(265).5 1-1-1-2 [41.4| — 2 | 465 ﬁﬁ%‘; ()
R EpTELbe—L BIPFEFa- ) | e a2
N . [ 4 2505 : -3-2- — REELEL (SH)
N - BEXEE R i 6 s 1.(225>.9 2-3-2-3 | 41.4 5 <5+117> el
L:TIATLREA L B4 TX v T o BAHIS
N MAHIES] : —6-6- — BiFE— (BH)
N> BEESTETEE H 6 A (11.216/.22) 6-6-6-6 | 41.0 10 (4:329) %#%m
:arFady b BRCFTFoUTILE ARETa—T7— LA
S — i o8 | HEREI 1:26.3 5-5-6-5 |41.1| — 4 455 | BHEZ (SH)
5PN 4| bOYaUTART 56.0 (7E) 42) | (B J PN
R:TwINEry b BV USRSy RS g EERRR b Y Y a UK
5 S oL BUFFE AR :26. ~7-8- 2| = BHE— (SH)
6 10| FTMTN=327 i 9 s 1 (226)7 7-1-8-7 | 41.2 1 (4_818) %#%ﬁ&z
L:yrh—r B:TvIIM KA ER
N c— s 1EREH : -9-0— — HAKRE (S
vd ¢ BARANLZ A R i 1(72?:? MR ’ fﬁ; R AR
x> inAn— B:SAY2T7597 =R E%E
. N FABLRE : 00— — NBEE (FH)
sEY3| vV T>7)—"7 i 1('12/%)9 M R s ff) A
R:hE=XT—F— B:¥AKU—7— ellikse]
— o AAH :27. -10-10- . — Arhfh— (FH)
9l 111 HY=——yx~Nygh 4 6 a% 1727&‘? 10-10-10-10| 40.5 7 ;1_749) e
R:7A7% BY=Z—-I5vdv7 HAHHT 77— L4
SV 4t 7 | HREE—H 1:27.1 11-11-11-11{ 40.1 | — 9 486 | TEERE (BH)
10(7|9|¥7NVITAY— 56.0 (3/4) 43 | BRI
97274 — B:EwLXTzTY— RIS
4t 5 | WikHER 1:27.3 4-4-4-8 | 42.3| — 6 449 | THEEHEE] (SH)
17|82V r7Yad 54.0 (3/4) © | W) F7VaTU-zs 5K
R:T77RVIT BiEAFNT v b— AT
@ 1 — S —EBlIEf
13=7r= 11,6,3,8,4,2,10,5,7,1,9
2ol=5= 11,3,6,8,4,2,10,5,7,1,9
Jol=5r= 11,(3,6),8,5,(2,4),10,7,1,9
43—F— 5,11,6,3,4,2,10,8,7,1,9
[ N3
BB 5 200H 714K 5-11 160H % E 5-8 360M 3EHE 5-6-11 790H
8 B 5 110 5-6 330M B = 5-11 320M K31 5-11-6 2,240H
1 110 6-11 0| | B B 5-11 560/
6 1904

ABICOVWTRDTEEERROODE. TR LIV,




